= AH O
M = 0l &8 AF 2 ZH A A
2011E T 20A LBHE|IH , JIEISES|H SEUHHS D ~ SHHRX St
2A: SIS D
H: IMuE LS
C: 2HRSNE =2 (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
S AW 1,677,470 315,610 1,361,860
2 500,000
< 125,000
Al 1,052,470
SHWNE A2 37,600 37,600 0
ZHRsWE =& 37,600 37,600 0
LETAZ 2HLR 37,600 37,600 0
201 Lt AH| 1,900 1,900 0
01 AF222|H] 1,900 1,900 0
OZMuUS S BEA(E=20{LIEIAN)
200,000 x5 x13] 1,000
OHAZ (YA SIIEFAON) 30,0002 =100 33 900
202 OiH| 25,000 25,000 0
03 =L L0t 25,000 25,000 0
O=ZHuns AL 20| 25,000,000 25,000
301 LEtEAS 10,700 10,700 0
08 2BI=A0H| 10,700 10,700 0
O=8H|(Z=8!) 250,000 12 52«23 2,500
O=eid (=) 75,0003 x6H x5 x2 5] 4,500
OAlHl(==8!) 50,0002 x1H x5 x23] 500
OAH| (+=8J) 30,000 *6H x5 %23| 1,800
OBl =F Al 20 20,0002 7 H x5 x23| 1,400
X2 NYed =X 1,606,840 250,440 1,356,400
z 500,000
< 125,000
Al 981,840
Ol 2SOt 2R 87,000 87,000 0
0lZslor e 2 87,000 87,000 0
201 LBt AH| 18,000 18,000 0
01 AF222(H] 10,000 10,000 0
OBHRPREFHISE AFR222|H| 5,000,000& 5,000
OlIZ2SE U AFR22/4l 5,000,0002 5,000
02 22249H4| 3,000 3,000 0
OXt&s Xl 3,000,000 3,000
03 SHAIEEHI 5,000 5,000 0
OBHPEFHI ALY SHENE A HES
5,000,000 5,000
202 OdHl 9,000 9,000 0
01 2o Y| 9,000 9,000 0
ONZEEHA L HUAHABRZA
9,000,000 9,000
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A SEHMI AL
M X322 Ng9eEd =
chel: S0IREEA (S &
_ _ AT
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
201 B2 26,000 0 26,000
03 &AL2SHI 26,000 0 26,000
Ogt.0l ol=0te =24 2,500, 000& *82] 20,000
Ot.01 HEAE 24 500,000& «123] 6,000
=Mzt FRFA 5,000 5,000 0
=H3t HeHEA 5,000 5,000 0
201 LEt=gH| 5,000 0 5,000
02 3323l 5,000 0 5,000
O&=AIEZXNAE 22 HaAE JlseEs=s
5,000, 000& 5,000
Ol J1 X0 & 150,000 0 150,000
BEHE T2HESAM 150,000 0 150,000
401 AlEHIZ 208 150,000 0 150,000
01 Al&HI 150,000 0 150,000
BEHETE TAI22AHE HE3Z2E L Al
2 89 150,000,000 150,000
BA=IE St 4859 ¥& 1,229,000 51,000 1,178,000
= 500,000
S 125,000
Al 604,000
QITHArE =& 604,000 51,000 553,000
201 B2 20,000 51,000 231,000
01 AtS2t2iHl 18,000 31,000 A 13,000
OB XAIE =& ALR 2t el 8,000,000& 8,000
O&=2Jt iz & Az &4 10,000,000 10,000
03 S Ar2ZHI 2,000 20,000 218,000
OF0HH3S HAI 2,000,000& 2,000
207 & 51OH 2 34,000 0 34,000
01 HES S| 34,000 0 34,000
OBNSZAY Mot Z&5ES 19,000,000 19,000
OUst=X MetA MEAZSH 15,000,000 15,000
401 AlEHIZ R0 550,000 0 550,000
01 Al£HI 550,000 0 550,000
HEAEHY MY UL SSHE UEEA
NESES 550,000,000& 550,000
CCOtMEE A 32 SHetAg 625,000 0 625,000
& 500,000
< 125,000
401 AlEHI LS HH 625,000 0 625,000
= 500,000
= 125,000
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2N SE Hi“II ot
M X5} Aggd =4
el EXMII% st g4adss8 ¥= (el &
- - P e
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ol A o8 Blus
01 A&l 625,000 0 625,000
ZE= CCIOHHER A B3d SHEHA
2 625,000,000 625,000
& 500,000
= 125,000
AY2LIH(SEUAMA A ) 33,030 27,570 5,460
Jl2ZH(SEUHMX A1) 33,030 27,570 5,460
Jl2ZH(SEHHX A1) 33,030 27,570 5,460
201 2Bt 8,910 7,290 1,620
01 AtR2teld] 8,910 7,290 1,620
ORM2Z AMR2teld] 8,910,000& 8,910
202 04 H 21,120 17,280 3,840
01 2L 21,120 17,280 3,840
OJl2dR=+80H(11E) 21,120,000 21,120
203 g =&l 3,000 3,000 0
04 FEAN2SERFAHI 3,000 3,000 0
ORM2ILRFH(1521018t)
250,000& »12& 3,000




